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Private Sub Form_Load()
Textl=""

Text2 =""

Text3 =""

Label 1=""

Command1.Caption =" >I"

Command2.Caption = "z 5"
End Sub



Private Sub Command1_Click()
Dim a as single

Dim b as single

Dim c as single

a = Val(Text1)

b = Val(Text2)

c = Val(Text3)

if a+b>c anda+c>bandc+b>athen

Label 1= “this is triangle”
else

Label 1 = “this is not triangle”
End if

End sub

Private Sub Command2_Click()
End
End Sub

Private Sub Form _Load()
Labell.Caption=" "

Command1.Caption = "RUN"
Command2.Caption = "EXIT"

End Sub

Private Sub Command1_Click()
Dim a as string
Dim b as single

a= input box (“.u8" 5,lg 1, rb")
b = val (input box (“ass” 5,15 1, 6 ,657))

selectcas b
case 18 to 20

1ol 4sS's sl

Cg).’>4.o§.$6|).:

:([D)é)b):{d.:db.‘?lélﬁ

RUN 4S5 sl



label 1= “grade” & a & “is a
case 15to 18

label 1= “grade” & a & “is b
case 12 to 15

label 1= “grade” & a & “is c
case 10to 12

label 1= “grade” & a & “is d
case 0 to 10

label 1= “grade” & a & “is e
case else

label 1= “invalid grade”

end select

end sub

ATY Lo ¥ e

p 9 )o 2y 1,2l sl

Private Sub Form Load()

Label 1= ”05 .))|9 |) uv9d JI.L!S”

Textl=“ “
Command1.Caption ="l ,>

Command2.Caption = "z 5"
End sub
1ol 48 6l

Private Sub Command1_Click()
Dim n as integer

Dim i as integer

Dim g as integer

Dim s as integer

Dim m as integer

n=val (textl.text)

S=0

Fori=1ton

G=val (input box (“=5 5,15 1, s ,05”))
S=s+g

Next i



M=s/n
Label 2= stk (m)
End sub
\YA o ¥ e

Private Sub Command1_Click()
Dim x As Single
Dim s As single

x= val( Input Box(“ o5 5,l9 I, casd”))

s=0

While x<>0
S=S+X

Wend

Label 1= Str(s)
End Sub

-\

) X=u*v*(u+v) <) Y=(A+B)*(C+D)
C) Z=8*X"2-2*X+1 ) Sgr((a+b)”3)/(a-b)
—a) Abs(5*x”2-7)-Sqr(6*x)/(7-Int(8*x-9))

a—(a”r+b*)/b*c (z (r*o*(1+3/v™)) (& (a’v+r*b)/(a+c) (

&)l 2*5-3/3+771=10-1+7=16
o) 7-273+5-9/3-1= 7-8+5-9/3-1=4-3-1=0



z) 4%2"3-6=4x 8 -6=32-6=26
5) 5%2A5-15=5x 32 -15= 160-15= 145

b sl 15 -

Private Sub Form_Load()

Form1.Caption = "Compute a\b"
Command\.Caption = "Run"

Commandy.Caption = "Exit"

End Sub
RUN a5’ sl =l o8

Private Sub Command)\_Click()

Dim a As Integer, b As Integer
a = Val(InputBox("Enter number a: "))

b = Val(InputBox("Enter number b: "))
If b <> -Then Print tab(20); a \ b Else Print "Not defined"

End If
End Sub

Private Sub Commandy_Click()

End
End Sub

Private Sub Form_Load()

Textl=""

Text2 =""

Text3 =""

Textd =""

Text5=""

Texte =""

Labell ="Enter year, moon and day of current date :"



Label2 ="Enter year, moon and day of your birthday :"
Label3 =""
Command1.Caption = "RUN"
Command2.Caption = "EXIT"
End Sub
RUN a.5s o5

Private Sub Command1_Click()
Dim by As Integer, bm As Integer, bd As Integer
Dimy As Integer, m As Integer, d As Integer
Dim sy As Integer, sm As Integer, sd As Integer
Rem current date
y = Val(Text1) w. Form1
m = Val(Text2)
d = Val(Text3)
by = Val(Text4)
bm = Val(Texts) Enter year, moonand day of pour bithday
bd = Val(Text6)
If d < bd Then
If m <7 Then sal= 15 mah=F6 rooz= 29 I
d=d+31 A et
Else
d=d+30
End If
m=m-1
End If
sd=d-bd
If m < bm Then
y=y-1
m=m+12
End If
sm=m-bm
sy=y - by
Label3=" sal="&sy&" mah="& sm&" rooz=" & sd
End Sub

Enter pear, moon and  day of curent date

|1385 |3 |2E|

|13?n |a |22
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Private Sub Form_Load()
Command1.Caption = "Run"
Command2.Caption =" Exit"
Textl=""

Text2 =""

Text3 =""

Labell.Caption =" Entera"
Label2.Caption =" Enter b "
Label3.Caption =" Enterc "
Label4.Caption =""

End Sub

RUN a5 o5

Private Sub Command1_Click()
Dim a As Single, b As Single, c As Single, d As Single
Dim x1 As Single, x2 As Single
a = Val(Text1)
b = Val(Text2)
¢ = Val(Text3)
d=b7"2-4*a*c
Ifd>0Then

x1=(-b+Sqgr(d)) /(2 * a)

x2 =(-b-Sqr(d)) /(2 * a)

Label4.Caption = "R1=" & Val(x1) & " R2=" & Val(x2)
Elself d =0 Then

x1=-b/(2*a)

Label4.Caption = "R=" & Val(x1)
Else

Label4.Caption = "Have not root"
End If
End Sub

(9> 4SS IS

Private Sub Command2_Click()



End

End Sub

b5 lyzl a8 -y
Private Sub Form_Load()
Labell.Caption = "Enter the number of day :"
Textl.Text=""
Command1.Caption = "RUN"
Command2.Caption = "EXIT"

End Sub
RUN a.55 o5

Private Sub Command1_Click()
num = Val(Text1.Text)

Select Case num

Casel

Labell.Caption = "4

Case 2

Labell.Caption = "5 "
Case 3

Labell.Caption = "aui9s"
Case 4

Labell.Caption = "ac&au"
Case 5

Labell.Caption = "azi ) lg>"
Case 6

Labell.Caption = "auixy"
Case 7

Labell.Caption = "axe>

Case Else
Labell.Caption = "Number of day is invalid”

End Select
End Sub



£ Syl 18 -A

Private Sub Form_Load()
Form1.Caption = "Compute the tax"
Labell.Caption =""
Label2.Caption =""
Command1.Caption = "RUN"

Command2.Caption = "EXIT"

End Sub
RUN a5 o5
Private Sub Command1_Click ()
Dim s As Long
s =Val( InputBox("Enter salary:"))
Select Case s
Case Is < 800000
Labell =" Your salary: " & s
Label2 ="Taxis:" & 0
Case 800000 To 2000000
Labell =" Your salary: " & s
Label2 = "Tax is:" & (salary - 800000) * 0.1
Case Is > 2000000
Labell =" Yoursalary: " & s
Label2 = "Tax is:" & (salary - 800000) * 0.12
End Select
End Sub
£ 6l a5-a

Command1.Caption = "Reverse"
Command2.Caption = "Exit"
Labell = "Enter a number with 4 digits"
Label2 =""
Textl1=""
End Sub
Reverse 455 &

Private Sub Command1_Click()
Dim x As Integer, y As Integer, z as Integer, | as Integer



x = Val(Text1)
z=0
Fori=1To 4
y =x Mod 10
z=z*10+y
x=x\10
Next i
Label2 = "Reverse number :" & z
End Su

b sl as -

Private Sub Form_Load()
Command1.Caption = "RUN"
Command2.Caption = "EXIT"
Labell =""

End Sub

RUN 45> o5

Private Sub Command1_Click()
Dim k As Integer, c As Integer
c=0
Print
For k=12 to 100 step 3
c=c+1
Print k
Next k
Labell ="tedad =" & ¢
End Sub

e Trace Jygaz b Ples g5 0ol J> 6l ipmdss -V

[ | K |[Sum

25 | 25+0=25
16 | 16+25=41
9+41=50

9
4 | 4+50=54
1 | 1+454=55

R INIW D>~ U

ol OO 6?9)‘5 U‘ll)’l""
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Private Sub Form Load()

Form1.Caption = "Compute max and min degree"
Command1.Caption = "RUN"

Command2.Caption = "Exit"

Labell.Caption =""

Label2.Caption =""

End Sub

RUN 45> o5

Private Sub Command1_Click()

Dim cname As String, cdegree As Single, i As Integer
Dim maxname As String, maxdegree As Single

Dim minname As String, mindegree As Single
cname = InputBox("Enter the city name :")

cdegree = Val(InputBox("Enter the degree :", ""))
maxname = chame

maxdegree = cdegree

minname = chame

mindegree = cdegree

i=2
Whilei<=10
cname = InputBox("Enter the city name:", "")

cdegree = Val(InputBox("Enter the tempture", ""))
If cdegree > maxdegree Then
maxdegree = cdegree
maxname = cname
End If
If cdegree < mindegree Then
mindegree = cdegree
minname = cname
End If
i=i+1
Wend
Labell.Caption = "City " & minname & " Min degree " & mindegree
Label2.Caption = "City " & maxname & " Max degree " & maxdegree
End Sub

G5 -\ ¥ Ulges
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